LSN 21   LAB 5,             MA476.

1. Using the Transform(X, g) function, find the distributions from the earlier board problems:

· Let X~Exp(2), find Y=2X+4

· Let U~U(0,1), find V=U2
· Let W~U(-1,2), find Z=W2
· Using X above, find the probability integral transform.

2. Many months ago, we modeled the birthdays of the year with the  uniform(0,1) distribution.  Transform that model  yield a distribution that has 365 days as its support.

3.  The reciprocal of x is 1/x.   Find the reciprocal of the X, U, and W from above.

4.  Use Monte Carlo simulation to verify that the reciprocal of  X is in fact correct.  Plot the empirical CDF versus the actual CDF.

5.  Find the Minimum of the three distributions from number 3 and use Monte Carlo simulation to verify this system is valid.  













